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NOTE:

(i)

(ii)

There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language — 30
questions. Section A is compulsory and all the sub-sections have to be attempted. There are 90 questions in
total in Section —A in which the Child development and pedagogy is bilingual.

Section B comprises of Mathematics and Science — 60 questions and Social Studies/Social Science — 60
questions. In Section B out of the two sub-sections (Mathematics and Science and Social Studies/Social Science)
only one is to be attempted.The Section — B is bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30)

A developmental perspective involves concern with changes occurring over time in:
(1) form (2) rate (3) sequence (4) all of these

feam ufauy AN @ 578 &8 fan fev Tuq ufssazst &8 Mifaz §:
(1)3y (2)H® (3) MgaH (4) Qudas A9 It

The thinking process involved in producing an idea or concept that is new, original and useful is termed
as:
(1) creativity (2) innovation (3) intelligence (4) synectics

<, Wfsa W3 Qusial fegra At uaaT § Uer ads feu fafaz 93 yfaprr § ot wrfpnr arer &
(1) IT&TIHAIT (2) s=t&3T (3) g4t (4) AT fean

The transmission of traits from parents to off-springs is called:
(1) environment (2) genes (3) heredity (4) homeostasis

Hfipt 3* gfonrt 3 gIet € A99 § Wue I5
(1) ufg=dzs (2) AtsH (3) feamz (4) A-Afaat

Which of the following theories identifies four stages of child’s intellectual development (sensory-
motor, pre-operational, concrete operational & formal operational)?

(1) Erickson’s theory of Psycho-social development (2) Freud’s theory of Psycho-sexual development
(3) Jean Piaget’s theory of cognitive development (4) Kohlberg’s theory of moral development

faaiz 99 © dfua feam St o9 wienwet €1 ye'e qder 3 (ALTl-ied, Yoo Hiasd, igS Hasd W3
SugTaa FETEa)

(1) »fgama @ H&-AHd fean e faats (2) gafes e H&-féaa feam e faus

(3) #s fumma T Afarirasmava feaw e fratg (4) FIBHEII € &f3a feam e faurs

Which of the following is NOT the benefit of integrating student-centred learning into the curriculum?
(1) strengthens student motivation (2) promotes peer communication
(3) builds student-teacher relationships (4) hinders discovery/active learning

fefenradt-afes ffmr—yust § wsaH &8 #3s e fagsr g9 &dt 3
(1) fefemmagnt & mfsigaT § HAg3 d9eTd  (2) TH-I3T AEHT &7% AY9 & TU8eT g
(3) fefenragt-mfomua ffg arfer gaer 9 (4) ¥w/feprmits fafam-—yrust feg garee geeT

Which one of theories of intelligence advocates the presence of general intelligence ‘g’ and specific
intelligence ‘s’?

(1) Anarchic theory (2) Guilford’s theory of intellect

(3) Spearman’s two factor theory (4) Vernon'’s hierarchical theory

g4t & faoar fAuis Araes g4t ‘g’ w3 fefame gt ‘s’ €1 Hgeait € =a&3 g9er J1
(1) MaAa3T fAatg (2) far®eas = g4t = fAgg
(3) AUtwoH® & e-aradt fAars (4) ToH& © Sufed fAuis

Images, concepts, symbols & signs, language, muscle activities and brain functions are involved in:
(1) adaptation (2) motor development (3) problem solving (4) thinking process

&g, gasv=t, yJa w3 f9g, 397, Adlea adifedbnt w3 farrait aow fan few fafaz g1
(1) MEIBE (2) 43« feam (3) AH fod™ &7 AT (4) fo3s yfepur

Which of the following is NOT an element of learning event?
(1) learner (2) internal conditions (3) stimulus (4) teacher




faagT fafrr-yrust wesT er I3 &4t T
(1) frfupmraet (2) mi3foa T3 (3) getus (4) mforus

9 | Which one of the following theories view that behavior could be shaped through successive
approximation and reinforcement of responses more nearly approaching desired behavior?
(1) classical conditioning (2) instrumental conditioning
(3) operant conditioning (4) social learning
S | fau3 fAuiz € feg wasT I fa fewae § Maghia fasaesT w3 fefes fewae € wf3 faae yfsfpn<i @
fedtaes adt wfenr 7 Ager I
(1) IBHIGT wigdBE  (2) SHIT MaIBS (3) Afep™ igg®e  (4) mAd A fem-yrust
10 | A process by which a parent assumes that his child’s traits are all positive because one trait is positive
is termed as:
(1) halo effect (2) hawthorne effect
(3) law of effect (4) reverse hallo effect
10 | Qg yfepur, faw avdt Wit fea Wis 89 96 fa @gF & 99 Thit wdbrt feimar=t maaava g5 fa@fa fea
feimaT Araraand 9, § MY 95
(1) ufeuw ygr= (2) THIS yF= (3) ufge™i ygre (4) feudts ygr=
11 | Ramesh and Ankit have the same 1Q of 120. Ramesh is two years younger than Ankit. If Ankit is 12 years
old, then the mental age of Ramesh is:
(1) 9 years (2) 10 years (3) 12 years (4) 14 years
11 | aoiw w3 wifag e 120 € ANTS 1Q I | INE #fda 3 &€ AT a<r J1 7 #ifag & 81T 12 ivs 3, 3T aHm <t
Hofia @va I
(1) 9 A (2) 107% (3) 127& (4) 147%
12 | Which of the following is NOT an example of discrete variable?
(1) age (2) gender (3) marital status (4) place of residence
12 | fggst ferw 99 <t @urgas &dt 91
(1) 8Ha (2) féar (3) feerfoa rfast (4) fagrfent gt
13 | An appropriate form of assessing students’ performance in practicals is:
(1) interview (2) observation (3) questionnaire (4) written test
13 | ytiar fev feferradhyt € yeous e Hoide a95 o Quuas gu 3
(1) féeaf<g (2) fadtue (3) yA&T=BT (4) faudt udhue
14 | The type of evaluation which is used to monitor learning progress during instruction is called as:
(1) diagnostic evaluation (2) formative evaluation
(3) placement evaluation (4) summative evaluation
14 | fafiprr Savs iy €1 YaiSt § Wal<a a95 e <93t Afel yeiae <t fand § Wue 96
(1) feefoaa ¥aas (2) TTEIHI HBTS  (3) ATES HBAOS (4) FABETIHT HB TS
15 | Which one of the following is the better item of essay type of question?
(1) Discuss Newton’s laws of motion (2) Explain each of Newton’s three laws of motion
(3) What are Newton’s laws of motion? (4) Write note on Newton’s laws of motion
15 | fsdu-gut yas €t 9939 He fagst 9
(1) fsCes € arst € fao Qug gaur a3 (2) fales € It @ 3 famnt feg' oaa &t femrfinm a3
(3) fs€ew € a1t € fow &t 957 (4) fs€e= € Tt @ faut €3 &< o
16 | Special needs education is the type of education:
(1) given to very special people (2) given to persons with disabilities
(3) provided to intelligent people (4) established by colonial masters
16 | ferm (gfon) & At &t 83 9, feu ffpnr & fagat fam §
(1) mf3 femm at § fest Atet (2) fogtiazT=t =8 femadtt & fe3t At
(3) UM BT § Y5 A3t ATEl (4) SASTEET HTHEdT @8 AETTUI
17 | Which one of the following cues does NOT indicate visual problems in the children?
(1) difficulty in following direction (2) frowning

(3) stumbling (4) unable to estimate distance




17

(1) foerfes & use a9 feg #iy (2) {363t Iz €=
(3) 599 yTET (4) 1 T MEH'S BITGE € MGl

18

Children with speech impairment can be assisted by:

(1) encouraging them to express thoughts in the classroom
(2) helping him/her to pronounce correct sounds

(3) helping him/her to hear his/her spoken errors

(4) referral to specialist for complete evaluation

18

&< ¥ feaa @8 afont & faw 3gt morfear At a Aawt
(1) 85" & a@™HH feu feumg yare a95 et §3nfaz daaT

(2) €5t €t Aot gatit T G979 feg AoTfesT g9

(3) €t € mruStit IgET Few feg ForfesT aaaT

(4) yat AT BET fenm a1 38 gAeT
19 | The gifted child:
(1) learns rapidly and easily (2) retains what he/she has heard or read without much rote drill
(3) reasons things out (4) attends to stimuli for a shorter period
1 | yguEe
(1) 3+t 57% W At 397 fwer §
(2) 7 3% §7 & Afem Af ufgmr Jer 3, 87 & 993 3¢ & vig 3 fasr we quer 9
(3) ¥t & 399 I ygueT §

(4) 993 We AN BEt Uad <% fomrs fider J1

20 | Slow learners whose educational attainment falls below their natural abilities are labeled as:
(1) backward (2) gifted (3) juvenile delinquent (4) mentally retarded
20 | e fifmradt, fagt @ fiTmrava yudt @&t St yigfaa Gaaret I we 3, @5 & »rfumr e 3
(1) U= JT (2) ygu (3) farg-mugrat (4) WafAg 39 3 Meg U
21 | When delivering an effective lecture in classroom, a teacher:
(1) establishes an eye contact (2) employs meaningful gestures

(3) stands stationary at lecture stand  (4) varies pitch and tone

21 | gzHIH feu ygreardt Bage fEer dfenr, nifeua-
(1) »iyt & AUsd AETfuz gger I (2) MIEYTS AA3T €T YGdT J9eT I
(3) 9T AT AN Afad ySer J (4) MTUST B M3 375 § gEBeT gfder J1
22 | An example of media that transports learners to remote places by means of visualized reports is:
(1) educational television (2) educational broadcasts
(3) overhead projector (4) telephone
22 | @u wromm &t G@eraes, fauar fiifumradint § arsufsa fauget € st ot ga<adt et 3 8 Aer 3
(1) faforava 28ifews (2) fafermava yrras (3) frg-QuawT Gres (4) TS
23 | Communication with students means:
(1) asking them to do a task (2) exchange of ideas
(3) giving them directions (4) informing them of your idea
23 | fefenadtnt 7% A9 € H3BT T
(1) 88" & 31 I35 BTt MryET (2) fegrg zetear
(3) 8&t & foerfeat et (4) vy fegrat 3 €&F & Af93 gaaT
24 | The first stage in the learning of a skill is:
(1) precision (2) manipulation (3) coordination (4) imitation
24 | gEBIT fiye ot ufast mermar 3
(1) ufgguar (2) feegg-gua3T (3) IBHB (4) MBS
25 | Which of the following is NOT an example of a concrete concept?
(1) ability (2) chair (3) force (4) motion
25 | fao=t Ags g9aT ©f Gugds a9t I

(1) HaraT (2) gant (3) 98 (4) I3t




26

The reading technique that would be employed to locate terms and references in an index or thesaurus is:
(1) key-reading (2) re-reading (3) scanning (4) skimming

26

ugs © 3aaid, fan €t <93 rigapifear A7 mi-»9g dn feu ye W3 fede 89 w3 dist w<al, @n g
"ye I&
(1) MfIHTIYIE UF3  (2) Y&I-UZF3 (3) pud-femsne (4) AgAdT &HT

27

Motivation begins with needs exists in all of us. The need, that the student would tend to fulfill first
pertains to:
(1) esteem (2) physiological (3) social (4) self actualization

27

wifgiea 83 I B der I faoz~ w3 wien' feu feaws 31 fan 83 § feforradl ng 3 ufast el aesl
gdar, @n e i fan s & 9
(1) HEH™S (2) Al (3) AH™HS (4) mran-fRdt

28

For introducing a topic in classroom, what activity should a teacher do first?
(1) explain the rationale (2) inform the objectives
(3) tell topic orally (4) write topic on chalkboard

28

aumgH feu fei v ufed S< 9, rfrrua § ufost arsifet ot aest ot §
(1) IFT-wOTg & fammdT gaaT (2) G<nt &t gUsT Tt
(3) guT&t few 79 THaT (4) IraEdF Qua fenur foyer

29

Which one of the following is an example of reinforcement?
(1) No Lata, the answer is not 45 (2) Kamla, can’t you help Keerti with her answer
(3) Oh no, as usual, you are wrong (4) Suniti, you have said rightly

29

Afegiaes &t @erges faast 9
(1) &at 37, €39 45 T T (2) IH@T, dt F J9St € BF € €739 few AufesT a4t a9 Aot
(3) &I, IHAT FTIT, IAT TSI T (4) g3t gt sl Tt faar

30

Self study habit can be developed in children by:
(1) citing examples of great people (2) giving lecture on self study
(3) giving your own example (4) making new literature available

30

gfonr feu ne-wfeis &1 w3 fan 3gt feafiz &5t 7 Faet @
(1) HU'& fenmagtnt gt Gegst € o (2) AE-mfris QU Bagg e o
(3)MuSt Gergas @ & (4) &= Arfazg Qusey 9=

ENGLISH LANGUAGE - 30 QUESTIONS (31-60)

Read the passage carefully and answer the questions (Q. 31-37) that follow by choosing the best alternative:

What's the computer's mother tongue? Which language does the computer speak? Compuspeak. What is a
conglomeration of computer languages called? Computowers of Babe! Witticisms apart, we do need to
communicate with computers. When the Pentagon wanted a new computer language that could do most of
the routine jobs with ease, it made its scientists look at more than 150 different computer languages that
existed in the United States. After a few months of intensive testing of most of the available languages,
American scientists decided that none of them was suitable for the job. So the US Department of Defense
invented yet another language, making it about the 151st. It then went about searching for a name for the
language. That was not easy either. After going through more than 200 suggested names, the DoD didn't find
anything "precise enough". So, a new female name was picked and the newest computer language was called
ADA. Lady Augusta Ada Lovelace could be considered the world's first computer programmer, the first
software specialist. She was Lord Byron's daughter and the chief inspiration for the world's first computer
engineer, the father of the computer, Charles Stanley Babbage. ADA, the language is quite tough, complex and
highly detailed piece of software and is being adopted to much of the western world's military and space
applications. ADA can work with multiple parameters at one time, is quick, efficient and precise. But the non-
military world does not exactly need ADA to carry on its business. There are about a dozen other more popular
language that fit the bill very well. Though almost all of them seem quite tough, complex and cumbersome to
work on and write with at first sight, they are not tougher than learning a new foreign language and seem
relatively simple once one has a hang of them.

31

After whom, according to the passage, was ADA named?
(1) Lord Byron (2) Stanley Babbage (3) Augusta Lovelace (4) Pentagon




32

Why did the Pentagon want a new computer language?
(1) to launch simple defense operations (2) to execute routine tasks
(3) to maintain their schedules (4) all of these

33

Why did the DoD find it difficult to choose a name for their new computer language?
(1) no name seemed precise

(2) every name had been already used

(3) they did not have any repository of the available names

(4) they were unable to get approval of the president for the chosen names

34

Why have European militaries adopted ADA?
(1) is easy and simple to use (3) they are under agreement with the US
(3) can work on many parameters at a time (4) all of these

35

Why does the civilian world not need ADA?
(1) other languages are relatively simple (2) other languages are economical
(3) other languages are less complex (4) all of these

36

Identify the word closest in meaning to the word: "PRECISE"
(1) defined (2) permissive (3) mild (4) diffused

37

Identify the word opposite in meaning to the word: "CUMBERSOME"
(1) awkward (2) bulky (3) manageable (4) unwieldy

Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best
alternative:

What is the future which awaits our children? The underlying assumption of the question that Indian children
have a common future is itself dubious. It can legitimately be asked whether a student who is well fed,
attending a boarding school in the salubrious climate of the hills, and learning to use computers has any future
in common with a malnourished child who goes to a school with no blackboards, if indeed he does go to
school. The latter may have no worthwhile future at all. And it might be worthwhile to analyze the significance
of this marginalization of more than seventy five percent of the children of this country. The failure to provide
an infrastructure for primary education in the villages of India more than 60 years after independence is in
sharp contrast with the sophisticated institutions, for technical institutes of higher education are funded by the
government, which essentially means that the money to support them comes from taxes. And since indirect
taxation forms a substantial part of the taxes collected by the government, the financial burden is borne by all
the people. L.K.Jha put it graphically when he observed that 25 paise of every rupee spent on educating an lIT
student comes from the pockets of men and women whose children may never enter a proper classroom.

38

The author is trying to highlight which of the following:
(1) the greatness of LK Jha (2) need to have common future for Indian children
(3) need of sophisticated education for rural poor (4) faulty system of direct taxes

39

What seems to be likely answer of the author to the question posed by him in the first sentence of the
passage?

I. there is no common future for the Indian children

II. the future is worthwhile for majority of Indian children

lll. the majority may never enter a proper classroom

(1) only | (2) only 1l (3) only 1 (4) both Iand Il

40

Which of the following pairs have been termed as 'sharp contrast' by the author?

I. Infrastructure for technical education

II. Lack of infrastructure for rural primary schools

lll. Twenty five paisa of every rupee earned by government is spent on education

IV. the financial burden of higher technical education is borne by all people

(1) mand IV (2) mand 1 (3) MandIv (4)1and Il

41

According to the author, who among the following does not have a hopeful and a prosperous future
I. All students from technical institutes

II. All students financially supported by the government

(1) onlyl (2) only 1l (3) both land I (4) Neither I nor Il

42

Which of the following statements is not true?

|. The author welcomes Govt's initiative on primary education

Il. 75% of the children have a bright future

Ill. 25% cost of educating a technocrat comes from poor people

(1) onlyl (2) only ll (3) only 1l (4)only land Il




43 | Identify the word closest in meaning to the word: "DUBIOUS".

(1) unarguable (2) uncertain (3) undoubted (4) undeniable
44 | Identify the word opposite in meaning to the word: "SOPHISTICATED".

(1) complicated (2) stylish (3) difficult (4) facile
45 | What is the major concern reflected in the passage?

(1) the gap between different sections in Indian society is increasing

(2) Indian children do not enjoy common future

(3) both (1) and (2)

(4) only (2)
46 | Language acquisition occurs only when

(1) the child is taught the rules of grammar

(2) the child is given a reward

(3) the child has exposure to the language

(4) the child absorbs the language without conscious attention
47 | Correct pronunciation of individual sounds is related to

(1) Accuracy (2) fluency (3) both accuracy and fluency  (4) neither accuracy nor fluency
48 | For teaching grammar, the best grammar that a teacher can use is

(1) traditional grammar (2) modern grammar (3) pedagogic grammar  (4) no grammar is needed
49 | Organization of arguments and ideas in paragraphs is an important aspect of

(1)writing essays (2) writing memos (3) writing stories (4) writing personal letters
50 | When a child is asked to recite a poem, it can help the teacher to test

(1) knowledge of literature (2) proficiency in speaking

(3) acting talent (4) comprehension
51 | One of the principles of materials preparation for language learning is that

(1) complex materials should be chosen (2) grading of materials should be done

(3) any kind of material can be chosen (4) a small amount of material should be introduced
52 | The structure ‘He goes to school’ is often produced by learners due to

(1) failure of intelligence (2) mother tongue interference

(3) overgeneralization of rules (4) wrong teaching
53 | Atest of listening comprehension is a test of

(1) receptive skill (2) productive skill (3) hearing ability (4) phonology
54 | Mother-tongue influence can be effectively minimised in the classroom by

(1) using the mother-tongue more often

(2) giving examples from the mother tongue

(3) giving a lot of exposure in the target language

(4) giving inputs from the target language in a simple, graded manner
55 | Atest which is administered at the end of a language course is

(1) diagnostic test (2) placement test (3) achievement test (4) memory test
56 | ‘Interactive’ listening is

(1) listening and responding (2) listening for mood and tone

(3) listening for word stress and emphasis (4) listening for finding out speaker’s attitude
57 | Which of the following is an incorrect assumption in language teaching

(1) learners acquire language by trying to use it in real situations

(2) learners’ first language plays an important role in learning

(3) language teaching should have a focus in communicative activities

(4) language teaching should give importance to writing rather than speech
58 | Reading skills can be developed best by

(1) writing answers to questions on the text (2) focusing on the use of words from context in the text

(3) doing vocabulary exercises (4) doing quizzes and playing word games
59 | ‘Brainstorming’ means

(1) to collect all kinds of ideas on a topic (2) to do some mental exercises

(3) to make efforts to understand something (4) to give some kind of stimulus to the brain
60 | Practice of grammatical structures in a controlled manner can be done by

(1) correcting wrong sentences produced by learners  (2) gap-filling grammar exercises
(3) writing paragraphs and essays (4) explaining the use of particular structures




PUNJABI LANGUAGE — 30 QUESTIONS (61 - 90)

35 fau 43 & ug & €°39 fe6: (Q. 61-68)

Un & fen gatit fee mrert 3f3s< © wifrg Jis few Ue I fa 8 Un &t st fi<s arrme wer 31 ufost
fAg oAt 39 €1 fad3 q9aT W3 =7 e Hies ©F 8Tn Ht, €7 ge effit & avet €3 useT, 85t e
B9 gAST 3 79 Arfen-aaTed €91 578 UAT aurgeT 99 fenast & uan g< farrr 3, fen &€t nmd ans few
fowerara ot 37 fev fouzT g3 afes T1 gH-TIt ars 3 feg I fa Homs famearat 3 §ehs &a g7at yZtwt

-39 Aedt ‘T BA-AHTT M dT fgrerardt § fdee w3 farearg § uet -t ane 08, g Qo mmue MU §
famergTat adt Fiae; MTue T® U& & MUt »ias & aHTet - fermar & a3 e 96 | far uw & faarg
HTIe TF, AT U™ BareT J fa amat, dait, mits-arfeere, mnd gar feg fiusz 3 en sgmt & fags &%
3t g a4t | fen BEt It wrdbot 3 9wt €t B3 I fgmergdtt § yAoTs Y F 99 T T Al FHOT
Aer J fg g ot T8-U9 9 B=|
61 | mat gt feu fagst gt yurs 37
(1) UAT yggeT (2) gfrpt T y& gA o TAT arger (3) sH& (4) Ba-feyrer
62 | HgY UR Q@ e-aur@er fa g 9 fapur 37
(1) s '3 Q) ase feg
(3) TuzTET feg (4) Un <t gabit feg gpme famr I
63 | yfgst Hgy e €U ot Fi?
(1) feg@ sfger  (2) gzEf gt 'gafaer  (3) et a9t & faa3 e (4) goH IBGT
64 | mewt 3 9F & fgHe99 § d< fduer 97
(1) WM™ A&3T (2) fgrerardt M3 Fes (3) =3 (4) AgAd
65 | fgaerardt Wyt aet 979 ot AOE 9%
(1) TI-A g & aHet (2) migs-fermar & a3
(3) y&-urla &F anret (4) UGHTIHT T IS
66 | ‘sfga< v 9z’ Is fofr F &t 3
(1) yar=ar (2) TIH (3) femme (4) miyrE
67 | faara’ e &t mag I?
(1) iyt (2) fewdt (3) 399 (4) fem
68 | g ur ga<t fAedy at I Aaer I?
(1) FEH=T (2) $5 §8BaT (3) JgT-gdt (4) fgaeraTd
I3 fau U9 § ug @ yEst € €39 fe6: (Q. 69-75)
»HE e feg sifgesr, wE Tatt = s enyas a9'!
grae J feg Ia<la e, 3 fesy J Iedld <t
M IBH € g »HE &t firndt 99| ersu3 9!
SRII I IB I3 T, FEII A BT I T
3J9d &7 Bdl, [e8H &, 39dd BT IBH &
few e fograr %4 A= Ud | ERH3 3!
w2 fa faer ufdafut, mre fa Hat argtmt
6¢ A% € T=ATIG, 6F &9 @ TeAIE
wWd U ferd § 7HE U4 | eR3y3 dd
69 | few afezr f&g ot p&ar faar fapar 92
(1) fevrserdt & (2) & e (3) AT EBE T (4) 2w fumrg &
70 | gabut =femt & fan nifges™ €°F ensuz a9s wEt fagr famrr 32
(1) 3€d3 & (2) R gt © (3) & & (4) fgHerag &
71 | ‘gun @ f&'e s & il 939° arfe Q@adt ot fdst § »is < fimrdl 995 w6l faar fapir 32
(1) ™ BT & 2) TASIE=ES & (3) Byat & (4) eH g3t &
72 | faw 9w & 39d9 &It Baret IraiEl?

() fesHm3 aand  (2)end (3) Bat & (4) &=t &




73 | ‘mfges™e e ot wag I?
(1) mEe™ (2) yf3famr-uza (3) 3edla (4) MHE
74 | ‘gew’ Fat e d?
(1) " (2) ITHET (3) B (4) Bu
75 | ‘Fedled’ @ &t vag 97
(1) A3 (2) 3a<la (3) fema (4) e
76 | imrdl foninst 578 faasit sart sarehnt 3&57?
(1) 8 (2)5 (3)3 (4) 10
77 | fwret fea qI 95 -
(n< 2) 3= (3)99 (4) =
78 | ¥ oy mget feS fagsr mira9ed Fae &4t &
(1) Gunr (2) ABTWT (3) f&fenr (4) YFmT
79 | ¥ fog et &9 fagsr as3a o
(1) forft & WSt e B T (2) mrt g ute gt
(3) It AT AT IR (4) Tet & 398 feg &5
80 | faad =ma fe'w fenfia foq €t sia Ta3" gt I?
(HWTFIg3sdfaer ()T FIs@dfarr )T FW!Tfammr (4) T 3B T fapur!
81 | UAvdt IHT € ASHETST IHT faadt 37
(1) W& (2) 2fea rmfaz (3) fd<t (4) gTawt
82 | dwret 9T § foue wet fagst faut ga<t 3?
(1) Hraqt (2) & (3) S=&TaEt (4) grauyt
83 | graa fda yaa € 9% g7
(1) M5 Q) Ag (3) iw 4) f3s
84 | ‘YA gEw &< o fami &:
(1) ¥/ &= (2) Mo &= (3) feads=ga &= (4) =TI 5=
85 | ffpreraa ferns Tht famit Jobit as:
(1)"9 2) U= )& 4) "I
86 | @93 ¥ »irgrd I AU ©ht famit et Os:
(1) fex )€ (3) i 4) f3s
87 | gwT, HaT, AT3T HEw J6 fefpt feg at 9&?
(1) us&i= (2) fafgmr (3) &= (4) femms
88 | 35 fafimt f&5 femme faga a5?
(1) Ue, ot (2) 9o, TBT (3) g9, feg (4) Wfdeq, pfdeq
89 | ‘garst’ gyge ur fequl muw g
(1) A (2) MEE (3)&9 (4) A=
90 | pauwla 9oved J1 = feU fingai fafonr fagst &
(3J (2) AgEHIZ (3) sUT=g (4) get St &dt
SECTION - B
MATHEMATICS AND SCIENCE (BILINGUAL) — 60 QUESTIONS (91-150)
91 | Set of rational numbers is a subset of
(1) natural number (2) integers (3) real numbers (4) an irrational number
91 | ufeuy ffwmr e A faw o feur &
(1) U5 Ya& W (2) Y3& (3) Tm3feq Afgmr (4) mufarmr Al
92 | T—¢€ijs

(1) a positive rational number
(3) anirrational number

(2) a negative rational number
(4) both rational as well as irrational




92 T—e%
(1) TETIH Ufarmr Afeenr (2) facana ufarmr Afamr
(3) mufarr Afamr (4) ©< Ufarn M3 nufard Afenr
93 24 +
If 24x is a multiple of 9, where ¥ is a digit, then what is the value of * ?
(1)6 (2)3 (3)9 (4)4
93 24 x A p o o a . o =
g 24x 9 T gIea 4, fag X fea #a T, I+ YEr & &t g<ar
(1) 6 (2)3 (3)9 (4)4
94 -1 (+2) =
If (x 1 y+2) 7, X and Y being positive whole numbers, then the values of * and Y are
(1) 8,5 (2) 15,12 (3) 22,19 (4) none of these
94 - _ — - . Lo o .
=) Je=1)(y+2) =7 , X w3V usTNd yas Wd 95 3T S T W IS
(1)8,5 (2) 15, 12 (3) 22,19 (4) fegt feg It = &t
95
\/5 + \/g’ \/5 + \/g’ ‘/g’ \/ﬁ - \/5 are four numbers. When written in ascending order, these are
(3) \/g,\/g+\/§,\/ﬁ—\/§,\/5+\/g (4) \/ﬁ—\/g'\/g,\/z+\/g,\/§+\/§
95 - ~ R
V345, V2446, V8, V11-43 979 Afterr 351 79 fegt § 939 i fee fefipnr e 3, 3t fea 95
o VB35 T3 7446 ) VT3 VB2 446, 3445
96 The missing number in the sequence 1,2,3,6,% 20,37, 68 is
(1) 6 (2)9 (3) 10 (4)11
9% | 1, 2,3, 6, *, 20, 37, 68 & ==t feg arfeg -
(1) 6 (2)9 (3) 10 (4) 11
97 Let 7 and " are whole numbers. If 71" = 121,the value of " is
(1) 512 (2) 1024 (3) 2048 (4) 4096
7 | iese M3 nygsamasia m' =121 gt n" eryEd:
(1) 512 (2) 1024 (3) 2048 (4) 4096
o8 14 3
The product of two fractions is 15 and their quotient is 24 The greater fraction is
4 7 7 7
(1) 9 (2) 6 (3) 4 (4) 3
o8 14 3
@ st erareses 1O I3 fegt ergmar-a® 24 &) S35 S
4 7 7 7
1) 3 (2) 6 (3) 4 (4) 3
99 | Ihe value of ¥0-01++/0.81++/1.21++/0.0009 ;
(1) 2.03 (2)2.1 (3)2.11 (4)2.13
99 | J0.01++0.81++1.21++/0.0009 gr 5 5
(1) 2.03 (2) 2.1 (3) 2.11 (4) 2.13
100 | The cube root of 0-000216 jg
(1) .6 (2) .06 (3) .006 (4) none of
these
100 0.000216371”-3_,__,-8- 5.
(1) .6 (2) .06 (3) .006 (4) fegt feg" aet <t &t
101 | If selling price is doubled, the profit triples. Then the profit percent is




2 1

66— 105—
(1 3 (2) 100 3) 3 (4) 120
101 | 7 fEadt a3 waret a9 fe'3t el § 3F HaTer fagrer 3 wier 3137 va'e er yfaaag &
2 1
66— 105—
1) 3 (2) 100 3 3 (4) 120
102 | A shopkeeper sold an article offering a discount of 5 % and earned a profit of 23.5%. What would have
been the percentage of profit earned if no discount was offered?
(1) 24.5 (2) 28.5 (3) 30 (4) 35
102 | feq garaea 3 fea <Az 5% << <l Uaaw 3 <91 M3 23 5% Ha"=" arrfenr| A d€l € & fe'dt aiet, 3t
ene aE Ha'R €t yf3uz3T ot get:
(1) 24.5 (2) 28.5 (3) 30 (4) 35
103 | The difference between compound interest and simple interest on an amount of Rs. 15, 000 for 2 years

is Rs. 96. What is the rate of interest per annum?
(1) 8 (2) 10 (3)12 (4) 14

103

15, 000 gUE €t FaH 3 2 ABT BEl Tadf<ul forrs w3 Araas feg W33 96 Jue I1Yf3 <9 fowra g at
&
(1) 8 (2) 10 (3) 12 (4) 14

104

A sum of money is borrowed and paid back in two annual installments of Rs. 882 each along with 5%
compound interest. The sum borrowed was
(1) Rs. 1620 (2) Rs. 1640 (3) Rs. 1680 (4) Rs. 1700

104

ag Ui Qua B¢ AT 35 I 882/- JUT It & WEET fauat feu, 99d faua &% 5% 9 aaf<ul nfag,
TN a9 fe'3 AT 351 @ua et gad fast wt:
(1) 1620/- Fue (2) 1640/- JuE (3) 1680/- guE (4) 1700/- FuE

105

The polynomial f(x) has a double root -1, single roots 1 and 0. Then f(x) is

(4) x* ()c+1)(x—1)2

105

(1) (x—l)z(x+1) (z)x(x—l)z(x+l) (3)x(x+1)2(x—1)

fea sgue f(x)?éng-l,m)__mn@o:maf F(x) 5,

(1) (x—l)2 (x+l) 2) x(x—l)2 (x+1) (3) x(x+1)2 (x 1) (a) x° (x+l)(x—1)2
106 If (a+b) =d° +b3,then

(1) ab>0 (2) ab<0 (3) a=04,0=0,a=-b (4) none of these
106 F (a+b)3 =a’+b’ gt

(1) ab>0 (2) ab <0 39 V7 b=0ga=-b 4 fegrfeg a2t st
107 Two numbers are in the ratio3 :5 . If 9 is subtracted from each, the new numbers are in the

ratio12 123 . Then smaller number is

(1) 27 (2) 33 (3) 49 (4) 55
107 | & fifwrr 3:5 @ migug feU a5 | 7 99 o9 9 wer fe'gr Ater J, 3t s<uit fAfunir 12:23 @ wguzg few a5

2 Afenr 3

(1) 27 (2) 33 (3) 49 (4) 55
108 5:7:8

Seats for Mathematics, Physics and Biology in a school are in the ratio . There is a proposal to
increase these seats by 40%, 50% and 75% respectively, what will be the new ratio?

) 2:3:4 (2) 6718 (3) 0:8:9 (4) none of these

108

fea na® feu afez-fefomrs, Fiaa fefamrs »2 vie-fefoprs S Filet 5:7:8 € nigu's fea as 1 fegt
Tt Ftet qHTTT 40%, 50% M 75% TTET BT YAI'E J1 S MU |t J<ar|

(1) 2:3:4 (2) 6:7:8 (3) 6:8:9 (4) fegt feg aet <t &t
109 | Number of vertices and edges in a cuboids are

(1)6,6 (2)6,12 (3) 8,12 (4)6,8
109 | gave feg aet ffent M3 a9t e Afunr I5:




(1) 6,6 (2) 6, 12 (3) 8, 12 (4) 6,8

110 ° — _9Y — ' °
In aAABC,AA =X, 4B = (3x 2) and £C=y .Also £C— 2B =9 Then the value of ZB is
(1) 73 2) 82 (3) 25 (4) 49
10 oy AABC g 4AZXQ,ZB:(3’C_2)O w3 £C=Y  LC-2B=9"gt 3 gt feg £B THE T
(1) 73° (2) 82° (3) 25° (4) 49°
111 | If four sides of a quadrilateral ABCD are tangential to a circle, then
(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
111 | 5 93997 ABCD ®bit 99 garet ez € myest g5, 3t
(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
112 | If a cone and a sphere have equal radii and have equal volumes, then the ratio between the height of
the cone and the diameter of the sphere is
(1)1:1 (2)1:2 (3)2:1 (4)3:2
112 | 5 fea && »3 38 @ IS fenrmaa »3 s »rfeas 96, 37 ds o @urel »i3 3i8 @ fenrm feawigua
3
(1) 1:12 (2)1:2 (3)2:1 (4)3:2
113 | The perimeter of a circle is equal to the perimeter of a square. Then their area are in the ratio (use
22
T=—
7)
(1)4:1 (2)11:7 (3) 14: 11 (4)22:7
113 )
# fez e ufory, <gar @ ufoy © govae 3, 3t fegt @ 439es fan Msu3 fea 95 ( T eryGarad)
(1) 4:1 (2)11: 7 (3) 14: 11 (4)22:7
114 | The mean of the distribution in which observations are 1, 2, 3, ---n is
n(n+2) (n+1)
(1) 2 2) 2 (3) n(n+2) (a) n(n+1)
114 | gz St wing, fAAfee que 1,2,3,-n 35,893
n(n+2) (n+1)
(1) 2 2) 2 (3) n(n+2) (a) n(n+1)
115 N_c
[+-2 X1
To find the median of the continuous series, we use the formula: Median= f , here C denotes
the
(1) cumulative frequency of the median class
(2) frequency of the median class
(3) cumulative frequency of the class preceding the median class
(4) frequency of the class preceding the median class
115 N_c
[+2 %
WY B T HiZHE W8 T9s BET, ot Hishis f egggerylaraee ofifed Cervasy
b
(1) Hists det &t Afes w3t (2) Higts det &t mrfet
(3) gt 3t 3 yaust J1 &t Afax nifest (4) g det 3 yauat Jt &t nrfedt
116 | The nature of mathematics understanding is
(1) difficult (2) simple (3) logical (4) ornamental
116 | aifea-fefarrs € du &t yfaast :
(1) yafas (2) Ae® (3) 3afaa (4) A=Y
117 | The most effective teaching aid in mathematics is

(1) audio aid (2) visual aid (3) chalk and talk method (4) none of these




117 | afe3 few wfg ygreardt sfemys €3 9
(1) Mf3€ @3 (2) fen® €5 (3) g9 w3 oz fedt  (4) fegt feg agt &t &at
118 | Which of the following factors is the most important in planning class-room learning activities?
(1) motivation (2) discipline (3) lesson outlines (4) audio-visual aids
118 | g@AgH fiifur —yrust asifedr & Gimsrael feg w3 Ha'3<eyds aad fagar 3
(1) mfsyas (2) MESHHS (3) U € gu-gur (4) mrfsG-fegms S5v
119 | Evaluation of the subjects should be based on
(1) annual external tests (2) both internal and external tests
(3) internal test (4) none of these
119 | fefart e ystae fan Qua der gdter &
(1) Ar&TET gTIdt UdtiE (2) €< wii3faq w3 g7gqt udhue
(3) mi3faa udtu= (4) fegt feg” aet <t &t
120 | The main aims of questioning in the classrooms are
(1) to create interest and curiosity (2) to motivate the students
(3) to test the previous knowledge (4) all of the above
120 | gzHeV' feu yas Yes e HY @9 &
(1) fesarut w3 €3Fa3T UeT gaaT (2) fefenraegmt & Ufea aasT
(3) Yy9ud fams & gy JaaT (4) Budaz A9 It
121 | Which of the following bacteria is found in Ganga water?
(1) Coliform bacteria (2) Streptococcus bacteria
(3) Staphylococcus bacteria (4) Diplococcus bacteria
121 | g& fafipnt fes* fagzr viere dior € yet few fimer 3
(1) Coliform #IS™E  (2) Streptococcus HI=™E  (3) Staphylococcus HIRTE  (4) Diplodocus HIRTE
122 | The presence of starch in raw food can be tested with
(1) Dil. lodine solution (2) Dil. HCl solution (3) Dil. NaOH solution (4) All of these
122 | g9 wrvad feg Ae9w €1 Hgeai € uay fan 578 st 7 Aaet &
(1) Dil. fe6sts wis (2) Dil. HCl W& (3) Dil. NaOH W& (4) udaz A9 Tt
123 | How many times a solution of pH = 3 be diluted to get a solution of pH = 6?
()2 (2)10 (3) 100 (4) 1000
123 | pH = 6 T WS YTUI d9& BE pH = 3 & WS § fdal =9 uU3sT qaaT I<am
()2 (2)10 (3) 100 (4) 1000
124 | The acid present in the ant sting is
(1) Ethanoic acid (2) Methanoic acid (3) Citric acid (4) Tarteric acid
124 | &gt @ Sar feg ige A 3
(1) Srardnfeq #fas () Wiasnrfea nifrs (3) fafea wfns (4) Traefad mins
125 | Which of the following is a sulfide ore?
(1) Bauxite (2) Haematite (3) Cuprite (4) Iron pyrites
125 | 3 fafumt feg* faost nseds ol @
(1) Samrete (2) InreTEte (3) faGQuarete (4) T ufereten
126 | Which of the following does not conduct electricity?
(1) Fused NaCl (2) Solid NaCl (3) Brine solution (4) copper
126 | 35 fafumt feg* faaar fansl e oaa &dt &
(1) fe@#3 NaCl (2) 87 NaCl (3) grEts Ws (4) 3T
127 | In moving from outer most shell to inner most shell, the energy of shells
(1) increases (2) Decreases (3) remains same (4) Cannot be predicted
127 | 7g 3 97998 4% 3' A9 3 Wedd U8 I A'e feu ist €t Gonn:
(1) =u=t I (2) weet I (3) A& Ifdet T (4) Sfey g7t &4t St 77 AaEt
128 | An element X shows a valency of 3 and 5. The formula of its sulphides in the two states are respectively
(1) XS ,XS; (2) XS5, XSs (3) X3S, XsS (4) X,S3, X555
128 | X IF 323 5 €1 Hema3™ eanr@er 31 € niengre’ feu fen € neerdlst e qHed F3T &

(1) XS ,XSs (2) XS5, XSs (3) X3S, XsS (4) X253, X555




129 | Metal which is a constituent of Haemoglobin?
(1) Cu (2) Al (3)Zn (4) Fe
129 | grg, fAodt dhiaBfas e war 9
(1) Cu (2) Al (3)2Zn (4) Fe
130 | Which of the following is used for making insulation of electric wires?
(1) bakelite (2) isoprene (3) neoprene (4) Thiokol
130 | fawsl dba It e famsl 3@ g='Q@< el J6 fefr feg” faw €1 <93 &t Aiet &
(1) gg&TEe (2) mirferyts (3) s1&ts (4) gfeCa®
131 | The evaporation of water takes place from the leaves of the plants. The process is called
(1) Evaporation (2) Transpiration (3) Dehumidification  (4) Fumigation
131 | 'Jfewt € ufawt 3 Tmilaes der 31 fer yfprr § mye aa:
(1) THUIITS (2) THY ALY (3) fe-avtaas (4) §riteds
132 | If the energy available to the plants from the sun is 20,000). What would be the energy available to the
lion in the food chain, Plant-> Dear- Lion
(1) 20! (2) 200J (3) 2000J (4) 20000J
132 | & gow 3 Ufent § Qusaa €7 20,000) T 37 »rara-B few b9 § Queau Qawr faal Gait:
Jer->fges->He
(1) 20 (2) 200J (3) 2000J (4) 20000J
133 | Copper obtained from copper pyrite is called blister copper. Gas responsible for the formation of
blister is
(1) co, (2) co (3)NO, (4) SO,
133 | gqym ufewirele 3 YUz 37 (aU9) § afened aua »ye 35| ufened a=rg@e wel e am &
(1) co, (2) co (3) NO, (4) SO,
134 | Arrange methane, ethane, propane and butane in order of increasing boiling points
(1) butane<propane<ethane<methane (2) ethane< methane< propane< butane
(3) methane<ethane< propane< butane (4) methane>ethane< propane< butane
134 | =g 93 Qus=—wat € i <9 Wlds, 9185, Yus »3 fa@es § 3adta fe€
(1) fe€es < {is < &lus < Higs (2) HiEs < ggs < YUs < faes
(3) Higs < s < JUs < fa8es (4) Higs > €ds < Jus < fages
135 | An atom of calcium has a mass of 6.64X 10g. The number of calcium atom present in 10g of calcium is
(1) 1.5 X 10% (2)1.5x10% (3) 6.023 X 10* (4) 2.4 x10**
135 | IBHPHY € UIHTE BT BH'S 6.64X 107°g T1 10g ABEHAH e dBHH € et & farest &
(1) 1.5 X 10* (2) 1.5x 10 (3) 6.023 X 10* (4) 2.4 x10**
136 | A metal X is low in the reactivity series X can be obtained from its compounds by
(1) reduction by heating (2) heating with reducing agent
(3) electrolytic reduction (4) None of these
136 | nifgfepnmitaaT Bt few arz x wizy I few € it 3 x faw avat yruz &3 7 Ader 3
(1) IUE 58 BWAIS (2) BYITH EHC B3TH IUSE
(3) feBaefafea swaas (4) Qudaz feg Jet =t a4t
137 | The process of separating suspended impurities from water is known as
(1) Loading (2) Unloading (3) Distillation (4) Demineralisation
137 | yrel fed et mig ubit § <Y d96 € Yfepr § mirue gs:
(1) Bfsar (2) MEBISar (3) FHEE (4) feg-ufeiaas
138 | Which two of the following compounds belong to the same homologous series?
(1) C,He0, and C,HgO  (2) CeHgO, and CH,O (3) C,H¢0 and CH,O (4) C,HeO and C,Hg
138 | & fafimt feg faaad € dfaa s A3t B3t &' a3 95:
(1) GHgO, M3 CHO  (2) CeHgO, M3 CH,0  (3) C,HgO ™3 CH,0 (4) C,HgO M3 C,He
139 | A cart of mass 500Kg is pulled by a horse and acceleration produced in it is 4m\sec’ . The force exerted
by the horse is
(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) None of these
139

500Kg EH's ¥ feq 33 § Wz fu'ger I w3 fon feu @30 a51-<aus 4m\sed® J1US T8 Barfenr 55
3




(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) Qudaz feg’ It <t 5t

140 | A body of mass 2kg is thrown up vertically with a kinetic energy of 490J. The height at which the kinetic
energy of the body becomes half of the initial value is (g=9.8m\s?)
(1) 10m (2)12.5m (3) 25m (4) 50m
140 | 2kg Tanrs ur fea iz 490) aifaw Qavr 578 Qua @5 Hfewr wier I | fan @urel €°3 fus €t aifsw Qawr
WIgd H'® I »iut afg Aiet 3, €9 J: (g=9.8m\s?)
(1) 10m (2)12.5m (3) 25m (4) 50m
141 | A magnetic field line
(1) is the path along which a free north pole tend to move
(2) is the path along which a free iron particle tends to move
(3) is the path along which a magnetic needle tends to move
(4) is the path along which a line is traced
141 | $uat 43T YT
(1) €T Har J fAn € &% F339 €371 uge g5 58 yfeaz Jur
(2) €9 HgaT J AR € 7% F339 &9 a< 98< BE Yfeaz g
(3) 8T HaaT J fAN € &% Jual Fel 98< BEt yfegs Jet
(4) 8T Haar I fAR € &% Jur fu<t A<t J1
142 | A body in uniform motion in one dimension moves from a position X; at time t; to another position X,
at time t,. Which of the statement is wrong for this motion?
(1) Actual distance covered in time t; to t, is magnitude of displacement
(2) The velocity calculated by making any choices for t; and t, always give the same result
(3) A larger value of the difference t,-t; will give a small value of velocity because velocity is obtained by
dividing t,-t;
(4) A larger value of X,- X; will give same value of velocity as a smaller value
142 | fea forr feu feana adt &7 fea fiz t, 3 X, Afadt 9° , i 3 fea 9 Afgst x, @5 g@er J1fen ot
TR faazr qus IBIT &
(1) AT t;, 3 AN t, 3 3 F1ST THSfed gat fergus e ufane 7
(2) t, M3 t, B T I d96 THS UfgasTUZ a1 IHAT ANTS Ufae™ yers aeT I
(3) tp, t, € W3 T SAOW WS, F9T € MBU U YT's dar faffat, - t, St 3 Fyuz ger g
(4) Xo= X, € TIOW HS, MBU HS T <1 € ANS HS YT'a Jdar|
143 | A 1000w heater is used every day for 90 minutes. This heater will consume units of electrical energy in
30 days
(1) 45 units (2) 90 units (3) 30 units (4) 60 units
143 | 1000w ¥ dtes €t g9 37 90 fitet BEt =o' ait AEl 91 feg dieq 30 fest feu fawsel Qonr @ 43 ufset
€ Yy gdar:
(1) 45 gfae (2) 90 gfze (3) 30 Gfae (4) 60 Gfae
144 | If the diameter of the earth becomes two times its present value and its mass remains unchanged,
then the weight of an object on the surface of the earth becomes
(1) one eighth (2) one fourth (3) half (4) remains same
144 | 5 fyg<t e fonm fen € S9a3Ws H'E 3 € gt T Aier J 713 fen e Sows niaes afder 3, 37 fyg<t <t
A397 Qud yerdy €T g9 ¥e HieT O
(1) feg-nis=t (2) feg-gaet (3) miTr (4) M 3fder I
145 | The direction of force acting on a current carrying conductor placed in magnetic field is determined by
(1) Right hand thumb rule (2) Cork screw rule
(3) Fleming’s right hand rule (4) Fleming’s left hand rule
145 | Suet 439 feu U yar-=ua od 3 fals g5 <t fear fan v fsaurfas &St At
(1) AR-g 8" #gieT feoH (2) I AfGS fomm
(3) SBfitar & A-Tar fant (4) SBfirar = ¥E-TaT faTn
146 | Which part of the eye is adjustable in accordance with the light conditions?

(1) Iris (2) Retina (3) Pupil (4) Lens




146

YT'H Thdt I8 3T migHd MY e faugT g9 MiggsStar ger O

(1) Wy-y3st <t ¥5T (2) My & yger (3) My &t y3sT (4) 8ad
147 | There is no atmosphere on the moon because
(1) it is close to the earth (2) it revolves around the earth
(3) its acceleration due to gravity is low (4) its acceleration due to gravity is high
147 | ¥e Gue €t = anss sat J fafa
(1) fegfygst e &3 9 (2) fev fugst end uner I
(3) I3 g9 fen e ISt =9us fors I (4) I3 J9d few e art-<9us €9 T
148 | If the mass of both the bodies is reduced to half. The gravitational force between them becomes
(1) Double (2) Four times (3) One fourth (4) one-half
148 | 5 @gf izt € ¥eWs § wer & »iur a9 fe'3r Afer J, 3 fegt fev gg3™ a9 ¥ e &
(1) &gt (2) 99-Fret (3) fea-garet (4) ar
149 | Which colour component of white light is deviated the most through a prism
(1) Red (2) Yellow (3) Blue (4) Violet
149 | fg°2 yaw er fagzr dar 32 fyapf o<t rg 3' Sufeafea de
1) 8 (2) utsT (3) &tBT (4) FIrst
150 | A body moving in a circle travels distance which is directly proportional to time. The body travels with
(1) Zero velocity (2) Constant speed (3) uniform velocity (4) constant acceleration
150 | fe3 feu u& four fiz gdt 2 qeer 3 fagdt it eI i e visuz feu TIfis fan ss ws foor &
(1) §&W =d1 (2) Afga =ar (3) feanrg =ar (4) Afgg Irt-<9us
SOCIAL STUDIES / SOCIAL SCIENCES (BILINGUAL) — 60 QUESTIONS (91 — 150)
91 | When does history begin?
(1) when human civilization begins (2) when human memory begins
(3) when written sources become available (4) all of these
91 |fefsgmae ggderd:
(1) 7E" WG 4t AfgH3T &7 mag ger I (2) 7E" MG Ut fAHaat @ migg Jer J
(3) 7ie feu3t A3 Qusay ge 05 (4) Budag ATg Tt
92 | In terms of history which is the proper chronological order
(1) Paleolithic, Megalithic, Microlithic, Neolithic (2) Neolithic, Megalithic, paleolithic, Microlithic
(3) Paleolithic, Neolithic, Microlithic, Megalithic (4) Microlithic, Neolithic, Megalithic, Paleolithic
92 | fefgom € gy feu €fe3 Tagia Iasta fagst 3 :
(1) YIT-U'HT, HU™-UHF, FUH-UEd, 32-UEd  (2) 32-UEJ , HU™-U'Hd, YII-UHd, FuH-UEd
(3) YIT-U'Hd, 5-UHJ , FYH-UEd, HU™-UEd  (4) FUH-UHd, 3-UHJd , HU™-U &J, YaT-U&J
93 | Where rice was first domesticated?
(1) Antarctica (2) South Asia (3) America (4) Europe
93 | grew & aw3 ufost fag a3t aret :
(1) #egafear (2) Syt EHPAT (3) »dtar (4)gau
94 | The second urbanization in India is supposed to have happened approximately in the 6" century BCE.
When did the first urbanization happen, approximately?
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE
94 | g9z feu g Afgdlaes Ba=ar 6-<t AEt BCE feu dfenm iifewr aier & | ufosr efgdiaes saEar as
Jfemr:
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE
95 | The first state systems in India were formed in which region
(1) Kaveri valley (2) Narmada valley (3) All of these (4) Ganga-Yamuna doab
95 | ga3 feu ufasl o+ feenur faua yow feu gemet aret :
(1) Fr=at wet (2) BaHET Wt (3) udaz mra It (4) TR TH&T SmrET
96 | Ashoka’s dhamma was

(1) A principle of good conduct (2) Anideology




(3) A set of ideas propagated by emperor Ashoka (4) All of these

96 | mEa e 4% At :
(1) 991 Mrgd< & g3 (2) fex fegraurar
(3R AMdTe @8 YId fegat &7 Ae (4) Qudaz A9 It
97 | Who was Pliny?
(1) A poet who wrote on the history of India
(2) A warrior King who settled in Afghanistan
(3) A Roman scholar who mentioned India as a trading nation trading with the Roman empire
(4) All the above
97 | ymfeat d< wt:
(1) fea a<t fan & 9793 © fefaam g9 fafvnr
(2) GUT gedY fAusT miearfana s feg nrgre dfemr
(3) Ins feoes fAN & 9793 €7 IHE AHTH 578 [UT Jd6 '8 U JTHSd 28 <ISS 13T
(4) Budas A It
98 | The empire of King Harsha was spread over
(1) The area from the southern sea to the northern mountains (2) The western sea to the eastern sea
(3) The Ganga Yamuna valley (4) Afghanistan to Assam
98 | graAT gow BT A fad I e Jfen At :
(1) Syt A9 3 €3 ugest 37 = fewmar (2) UMt AaI@ 3 yaut AaE 3T
(3) IO THET Wt 3T (4) M fEAITS 3 MAH I
99 | What was common to the following scholars from Ancient India: Apastamba, Baudhayana , Katyayana,
Manava, Panini, Pingala, Yajnavalkya
(1) They were astronomers (2) They were grammarians
(3) They were poets (4) They were mathematicians
9 | yrdts g93 € J6 fau feeeat feu fagat ars Aivt At :
(1) 8T ywIis-fefarrst As (2) B0 fewmags-rA3dt As (3) v o<t as  (4) €9 aifes-Amwadt A
100 | The Slave Dynasty consisted of
(1) A single family which had obtained its freedom from slavery
(2) A number of unrelated families whose founder was a slave soldier in service of the king
(3) The slaves of Indian ruler
(4) None of the above
100 | gy €w few Afifesa 3 :
(1) feasT ufgeTe fAr & EH3T 3 FI393T YU St At
(2) 993 A9 mgfag ufgema fam &7 et o+ & A= a9 faor v fAurt At
(3) 93T A & IB™H
(4) Qudars fev aet &t
101 | The Buland Darwaza was built to
(1) Celebrate the birth of the heir to the throne of Agra  (2) Commemorate the conquest of Gujarat
(3) Honour the Chishti saints (4) All of the above
101 | g&w wa=mwr fan eI ge<fonr faprr i -
(1) MaId & U3 & SfIH & A& fes Ha8= &t (2) A3 € fA3 & HageT Bt
(3) foust A3t € AaH™s Bt (4) Qudag AT T
102 | The name of the regent who reigned for Akbar was
(1) Humayun (2) Babur (3) Bayram Khan (4) Salim
102 | @u divi'e & ot &t Al fAR & »id9d T I HAS 13T :
(1) g (2) g4 (3) I ut (4) ABM
103 | The Gateway of India, the India Gate and the Teen Murti were built

(1) To welcome George V, to honour the war fatalities of the Indian army, fatalities in the First World War
respectively

(2) To welcome the English King, to welcome the English Viceroy, to welcome the Prince of Wales respectively
(3) To honour the English Queen Victoria, to celebrate the victory in the First World War and to honour those
slain in the Second World War respectively




(4) none of these

103

a3 T diew, &t die w3 s Hadl fan @3 geee aE :

(1) IHT 77aH V & PTaT3 BEL, 97931 Ast &t G few 98t W3t € AanTs B¢, ufod fene wu feg geht
H3' et

(2) IHIT MITH TTEHT & BHTITS BET, MIIH TTEHITE & FHTITS3 BET, TBH € ITHAIHG € BHIIS Bet

(3) IH=TT WAH HOTI'ST fedednT € AaHs &et, Ufa® fene gu feg fAs & Ha8e &et w3 857 € Aans
&e! fros e fere U feg W9 I s

(4) Qudas feg gt & =t

104

The strength of the Mughal imperial system lay in
(1) Its harsh laws (2) The mansabdari system
(3) Its ability to be paternalistic (4) The cooperation extended to it by other Indian rulers

104

HII® AT+t Y&U & vagst fan feg At -
(1) fen € 59 I45 (2) HEHgETdT YET
(3) fugdter<t d= & fen &t Garsr (4) fen & ev 97931 HHat <& fe 3T Afadiar

105

The Singh Sabha movement was broadly begun in the
(1) eighteenth century (2) twentieth century
(3) nineteenth century (4) twenty first century

105

firur g Bfae e 39 3 o€ §g JEt :
(1) 18 =t A<t (2) 20 < A<t (3) 19 =t A<t (4) 21 <Y A<t

106

Identify the correct time sequence for the following:
(1) Guru Har Krishan, Guru Har Rai, Guru Har Gobind  (2) Guru Angad, Guru Har Gobind, Guru Amar Das
(3) Guru Nanak, Guru Angad, Guru Har Gobind (4) all of these

106

35 fafiprt € Aot - &t ue'e dq:
(1) 31 JIfgH&, TG I9 ITfe, IIg Jaaifae (2) 31g #ITE, I IIIITEE , T MIHE™H
(3) IQ 575, IG WaIE, JF e (4) Quda3z A9 It

107

What is common to Fakir Azizuddin, Diwan Moti Ram and Claude Auguste Court
(1) They were astronomers of considerable reputation

(2) They were employed by Maharaja Ranjit Singh

(3) They were soldiers of fortune

(4) All of these

107

=dla nieflg ©ls, S1ea H3t a0 %3 a87S Wiame dde feg at Ay 3 -
(1) €9 femm yfrdt =8 wdis-fefarrst A5 (2) 8T Hoara™ g3 fiw € JaveTdt As
(3) Gu o= e faudt As (4) Quaa3z Arg It

108

When the government was faced with customs that were different to the laws that it enacted it
allowed them to exist under the name of ‘customary law’. Custom here was defined as

(1) Something that had been practiced since ‘time immemorial’

(2) A practice on which there was social unanimity

(3) A belief that was backed by the khaps

(4) A practice that was part of the history of the people

108

7Y ATEd § ddit e AroMeET das” funir fradl fen <8 aoe ards 3 fas Hl, 37 fen 3 fen § ywe ags’ <
& € w3993 afaes fe'ar | feq yur & fa< ufesfas aiar fapar st :

(1) fAm ar% e 993 MHT Ufast I wmaas digT famm & (2) wifagr fe=arg fan Gua M= AeeHSt At

(3) MugT feme™ fan € mgEs Ut @8 3T faprT At (4) wifagr fesgre fagsT Sat € fefgom e fomr At

109

The revolt of 1857 was also called the sepoy mutiny and the first war of independence. What was the
importance of these different names for the same set of events?

(1) To identify the main actors in these events

(2) To measure the degree of anticolonialism in the Indian people

(3) To understand the different outcomes that resulted.

(4) An act of self-publicity on the part of those who gave these names

109

1857 ¥ feeda & faudnt € war<3 »3 A3393 v ufosr ua S »rfir wier & 1 fed famr e
wesTe & AYY BEl fegt fefds sret erat vage /it :
(1) fegt weasTst feg Hy-H39r & forraedt aaaT




(2) I93t Bat feg aStee-fedu &t w3er 3 forg sarGer
(3) fen 3 fsa® fefgs fAfent § mizst
(4) €T fenadtt @8 Ae-yaTa & araere! fast & feg &f fe3

110 | Who took charge as Prime Minister at the death of Jawaharlal Nehru?
(1) Gulzarilal Nanda (2) Morarji Desai (3) Lal Bahadur Shastri (4) Indira Gandhi
110 | #=vge && sfag €1 fieg fue” yurs W4t de gfenr:
(1) IBHAC & & (2) HITdHT THTET (3) 8% gITEd HTHIG! (4) féga arrat
111 | The science that deals with the study of the Earth and its lands, features, inhabitants, and phenomena
is called
(1) Paleontology (2) Geography (3) Biology (4) Sociology
111 | Qg fefamrs fragr fya<t »3 few & 3f&, Bect, Twbn Y3 <939 © rifvds 5% TEfaz I -
(1) ygge -fefamrs (2) Fai®-AH3T (3) i=-fefarns (4) arH fefarrms
112 | The third planet in the solar system is also called
(1) Venus (2) Mars (3) Earth (4) Neptune
112 | gan-15% feg AR a[fa & 39 ot wrfemr AraT 3 :
(1) §ad (2) ¥aT® (3) fymst (4) =<
113 | The earth has an axial tilt of 23.4°. This means that
(1) The earth wobbles around its axis
(2) The earth has varied weather during the year
(3) The hemispheres of earth are exposed to the sun for different times during the year
(4) The earth is a sphere
113 | fyg<t e wiaHt gao 23.4 f3ardt T 1 fer e H3Bw T fa -
(1) fyg=t MuE niaw @ FanErgEt 9 (2) fyg=t & A feg fefgs W der 9
(3) fyst € dizog Ay feg Y-y Afitrt 3 Fad »idr W@e e 96 (4) fygSt aisT
114 | The greatest impact on the environment of earth has been from
(1) Atomic blasts (2) Human activity (3) Chemical pollution (4) Solar radiation
114 | fyg<t @ ufer<as Qua g 3 <3 ygr< fan wfmG faar 3 :
(1) uanre fende (2) Hg Y ardtfedt (3) gATfesd ygue (4) gadt fefaas
115 | Controlling air pollution is important to ensure that
(1) Crops do not suffer (2) Industries get a proper supply of air
(3) we have clean air to breathe (4) Animal population does not go down
115 | =g ygHe § a5 ads feu wdlsl se@< st Hageyas 3 fa
(1) BHST €7 §IATS &T (2) Sedar & =9 &t 6f93 ruzTet fid
(3) A8 3% AY < BT A8 g I (4) Ug FftT wWe &7 3=
116 | Recently there has been much controversy over the condition of glaciers in India. The fear is that
glaciers are
(1) Advancing (2) Deepening (3) Retreating (4) Thickening
116 | g% qt feu 9793 9 IBHMHa &t miengr 99 aet @o-feew foar 3 | 39 fev d fa IBHMHT 95 -
(1) [T I (2) afgd I 7 (3) We 3 (4) 7B J 39
117 | The Ranjit Sagar dam is located near the village
(1) Naldhera (2) Thein (3) Nathpa (4) Jhakri
117 | ge+i3 A 3 fao3 iz @ &3 Afaz 3 :
(1) 3BT (2) 85 (3) 3T (4) gt
118 | The highest earth filled dam in India is
(1) Ranjit Sagar (2) Bhakra (3) Tehri (4) Hirakud
118 | g9z few 9an A-ufez 3n 3 :
(1) ISHIZ AT (2) =T (3) Sgo=t (4) Ta s
119 | Which of the following factors are responsible for the rapid growth of sugar production in south India

as compared to north India?
I. Higher per acre field of sugarcane Il. Higher sucrose content of sugarcane




lil. Lower labour cost IV. Longer crushing period

(1) 1and Il (2)1, l1and IV (3)1, I and IV (4)1, 11 and Il
119 | @°34t 393 ©1 IBsT feu Tuct 493 feu 43 Qaues ©t 39 feul &9 fiviee aad faazr a
I. 915 €t Y3t &gz 8939 Gun II. Wiz & 97 At
lIl. fors3e Hagdt B3 Iv. & € 8939 45 Hzar
(1) 1m3 1 Q)L M3 IV (3) 1, M3 IV (4) 1, 113 1
120 | India is a large country. It covers how much area of the earth?
(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
120 | ggz wgaz S3v W I | fen @ 3993 fuedt e fdsT 4ga e 3 :
(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
121 | The Radcliffe line forms the boundary between
(1) India and Pakistan (2) India and China (3) India and Myanmar  (4) India and Afghanistan
121 | Izafse Jyr fagt fegara A faafexs aq«t 9 :
(1) 93 M3 UfaA3™s  (2) 93 M3 I (3) IS MI HATAT  (4) I3 M3 MISITTEAIS
122 | After which Census was it discovered that the population of India is growing at a rapid rate
(1) 1921 (2) 1931 (3) 1951 (4) 1901
122 | faaht wsdiest 3 gmie fea uzr fenr fa 993 &t asifvrr Iw we s B <u adt I
(1) 1921 (2) 1931 (3) 1951 (4) 1901
123 | Saffron is produced in India in
(1) Assam (2) Bengal (3) Gujarat (4) Jammu and Kashmir
123 | grg3z feu ane v @aues fag der d :
(1) mme (2) HIr® (3) T3 (4) 7Y M3 Il
124 | From the Mansarovar Lake region come the following rivers of India
(1) Brahmaputra, Sutlej and Yamuna (2) Brahmaputra, Indus and Sutlej
(3) Indus, Jhelum and Sutlej (4) Jhelum, Sutlej and Yamuna
124 | yrand=a 918 yen 3 faux efonr fsase g5 :
(1) §OHY'3T, ASBH M3 THET (2) gOHY 39, fAg w3 AzsH
(3) fiT, A9®H M3 ASBH (4) FUBH, ASSH M3 GHET
125 | Which of the following occupies the largest cultivated area in India
(1) Barley and maize (2) Jowar and bajra (3) Wheat (4) Rice
125 | gra3 feu Ag 3 <37 I'H3 T 439 fan @ »uls I -
(1) 7 M3 Wat () re M3 gddT  (3) I (4) T=H
126 | The current Lok Sabha is the
(1) Thirteenth Lok Sabha (2) Fifteenth Lok Sabha
(3) Fourteenth Lok Sabha (4) Sixteenth Lok Sabha
126 | fger B ATT T :
(1) 3g B AT (2) feg=t B8aAgT  (3) do<t B AT (4) Ag<t 9 AT
127 | The Fundamental Rights in India are designed to
(1) Ensure rights of human beings
(2) ensure that all Indians can lead their lives in peace and harmony as citizens of India
(3) protect liberty
(4) protect freedom
127 | gva3 feu y® wifaare fan Bel fsadls 13 o 95 :
(1) Hadt € nifugrat § watat g8 et
(2) feg watat ge8< &t fa A9 9793t 993 I g @1 WUST Ales B3l w3 fedndaT % 9313 a9
HAZ
(3) MreaTat € Ha faT BET
(4) H393T & Ha fo™ BET
128 | The right to property is
(1) All of these (2) A fundamental right (3) Acitizen’s right (4) A legal right
128 | ¥yt wr mifgaa 3 :




(1) feg g Tt (2) ¥& mifugrg (3) sTaTfad &7 fuaa (4) It nifaarg

129 | AJPC, in the context of the Indian parliament stands for
(1) Joint Parliament Consul (2) Just Parliament Consulting
(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
129 | grgst Ame @ YT few JPC e yas gu at o
(1) Joint Parliament Consulting (2) Just Parliament Consulting
(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
130 | Article 370 of the Constitution concerns the state of
(1) Himachal Pradesh  (2) Jharkhand (3) Jammu and Kashmir (4) Tamilnadu
130 | fifegrs € »igaw 370 faul v &8 Afuz T :
(1) foures yew (2) g798F (3) HH M3 IAHtg (4) 3HBEZ
131 | Lok Adalat is
(2) All of these
(2) A court to settle disputes through compromise or settlements
(3) A court designed to shorten the time taken for settling disputes
(4) A court run by the people
131 | Bgwes3 T :
(1) A8 578" Gug
(2) MEF At faueTd It gaIfan’ € MU J96 8T MEs3
(3) garfant € faued B8t BT =93 § WS Bt faarels i3t e s3
(4) Bdt & IBTE ALl HEBI
132 | The division of the people of India into linguistic provinces was based on the principle that
(1) Providing administration to people in their own language is a good in itself
(2) All of these
(3) Using local languages makes for easier administration
(4) Language is an important bond which unites people and creates an identity for them
132 | grgg @ Bat &t gE yeut feu <3 fen fruiz 3 wufeg Al fa -
(1) Bat & €T & Myt I feg yamAs € T a4 »uE My feg Sar o 7
(2) feg Ara ot
(3) FEfsd IHT=T € ¥93° YATHS § AT 9S8 ET
(4) IHT HU'I<YTS €3 J fagaT Bat § Ager J M3 87 et uge g=ger g
133 | Making a living is
(1) A right given to us by the government (2) A divine right
(3) A right given to us by the courts (4) A fundamental right
133 | gt e :
(1) Aggg 8 g fe3T mfgarg § (2) €=t mifgara §
(3) neB3t =B A fesT mifuarg 7 (4) H& mfuda &
134 | All revenues received by Government by way of taxation like income-tax, central excise, custom, land
revenue (tax revenues) etc. form the
(1) Government of India (2) Contingency Fund of India
(3) Consolidated Fund of India (4) All these
134 | qeus A »mreal a9, »rgardt, Sait, iearardt »irfe € gu feu nears <8 Yyuz Al »iniest s @l 3
(1) 97943 AIAT (2) 793 T MTIAMAIT &5 (3)gg3g T Afgg &3 (4) Qudag AT ot
135 | The parliamentary system in India is based on the principle of
(1) First Past the Post (2) Proportional Representation
(3) Majority vote (4) Popular democracy
135

793 © ARl yerut fagx fauig Qua mafaz 9 :
(1) ggfarest <<t €t I yorst (2) mMguT3 yf3fsuzr




(3) ggfaredt 2 (4) BIfpd BI339
136 | Prasar Bharti is

(1) The Public Service Broadcaster of India (2) An NGO

(3) ATV organisation (4) A radio organisation
136 | ymg 933t I :

(1)FIBTIFIAT YIS ()mMsH & (3) &t < Farss (4) THE Farss
137 | Feminism refers to

(1) The ideology that women should be treated at par (2) The ideology that women should rule

(3) The ideology that men should rule (4) That women should be given more opportunities than men
137 | ardtere fan @8 Adzg a9e 9 ?

(1) fe fegraurer fa nigzt § gorge miset Ialer I

(2) fev fegraurer fa nigzt § AHE agaT gdter §

(3) feg fegraurar fa yant & AHs gdaT gater I

(4) feg fegrauraT fq yart 578 U WA YE'6 d96 IWIE I&
138 | The Chief Justice of India is appointed by

(1) The Prime Minister of India (2) The parliament of India

(3) The President of India (4) The Lok Sabha
138 | grgz I 1= Anfen €1 fauadt ds ader J :

(1) 93 € YU'S W3t (2) 993 €1 AAE (3) II3 € IHSIUIT (4) 8 AIT
139 | The Supreme Commander of the military in India is

(1) The President (2) The Prime Minister

(3) The Home Minister (4) The Defence Minister
139 | gra3z feu A&T BT FUSH aHiza 9 :

(1) IHeIUST (2) Yo H3at (3) Irfg W3t (4) Ty Frzat
140 | The Protection of Civil Rights Act was designed to

(1) Protect the civil rights of individuals  (2) Prescribe punishment for the practice of Untouchability

(3) Protect the civil rights of social groups (4) Protect the civil rights of citizens
140 | zrarfaa wifaarat <t Fafur nifafaw fan @3 fawre aizr fapar wit -

(1) feradt € srarfaa mifuarat & fonfez daaT (2) gg3 ¥ fe<ud Bet nar fanfexs gaat

(3) ANTHJ AYTT € &Ta1fdd wfuarat € Ha 4T Jaat (4) STIIfdAT & STAIfdd MfgaTat & g oo™ JI&T
141 | Social Sciences study

(1) Societies (2) Indivduals (3) Governments (4) Philsophies
141 | aya-fefarrs »feis aee 9 -

(1) AHTHT &7 (2) fomadtnt er (3) AIITaT &7 (4) €IHE-AHITT €7
142 | “Where the mind is without fear” were lines by

(1) Mahatma Gandhi (2) Swami Vivekananda

(3) Gurudev Rabindranath Tagore (4) Sardar Bhagat Singh
142 | feg Agat faw €t I& : “where the mind is without fear”

(1) I3 It (2) gt fesarae (3) Jge< Ifed s g (4) AIE™E 9913 fAw
143 | Part of the complexity in teaching social sciences lies in the fact that their subject is

(1) Ever changing (2) Very complex (3) Non-existent (4) Localised
143 | ayr fefarrst @ wifowus feu fea afesar fen Jafew dfa @gierfemr 3 :

(1) AET Ufg=aasHls (2) mifg Afes (3) nAf33=-dt= (4) FETBifaa
144 | Education of a child takes place

(1) at all three, home, school and society (2) in school (3) in society (4) at home
144 | g9 €t fafpnr fag <t 3 :

(1) w3, ig@ M3 A f3at feg  (2) rgs feg (3) e feg (4) w9 feg
145 | A teacher has to be adapt at

(1) Acting (2) Learning (3) Communication (4) Playing multiple roles
145

nforyd & fan € midg 9T gdteT 9 :
(1) mfgd & (2) fAferr -yt €

(3) AgTg & (4) gguHt ghvaret fag e &




146 | The difference between a primary and secondary source is that
(1) A primary source is primary while a secondary source is secondary
(2) A secondary source is closest to the person, information, period, or idea being studied
(3) A primary source is closest to the person, information, period, or idea being studied
(4) All of these
146 | yrafia W3 Ae 73 fev Wzafea I fa -
(1) yrahe 73 wahia 3 #3 dle iz die 3
(2) die A3 mftrs 3 77 39 fenast, pesT, a5 7 fegd € fageander g
(3) yafia A3 mfors o3 A7 39 fenast, gpasT, a® 7 fegrg e fagear gev
(4) fegArg 3t
147 | Project work is important because
(2) It enables students to be creative (2) It creates some work for students
(3) Learning by doing is more lasting learning (4) It enables teachers to be creative
147 | {vide e o Ho'3<yds d fag fa -
(1) feo fefenraght § 953 95 € War ge@er I (2) feg fefenragh Bt g3 1 Uer gaer I
(3) 31 99 & fAyeT =uq raret fAfvrm-yrust O (4) feg mfemudt & I9&T3IHT 95 © WaT gST8ET I
148 | Class room teaching should be
(1) Intense (2) One sided (3) Interactive (4) Easy
148 | gzHgH Mfwys 32 :
(1) =g (2) feg-umz (3) UInug fammava (4) MA™S
149 | DPI is the acronym for
(1) Director of Prosecution and Intelligence  (2) Department of Personnel and Investigations
(3) Director Private Instruction (4) Director Public Instruction
149 | ppI faw & yaH-mudt gu d :
(1) Director of Prosecution and Intelligence (2) Department of Personnel and Investigations
(3) Director Private Instruction (4) Director Public Instruction
150 | Teaching techniques in the social sciences could involve
(1) Role Playing (2) All of these (3) Projects (4) Lectures
150 | ayra-fefarrs few nftus astat feg ais gaar gwder 3 -

(1) ghiar feg@er  (2) Qudars Arg (3) §Aae (4) Ba9d




